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B.Sc. DEGREE EZ\'Al\'IINATION. JULY 2021.
First Year — First Semester
Part IT — Statistics

Paper I — DESCRIPTIVE STATISTICAL AND PROBABILITY

Time : Three hours Maximum : 75 marks

i | SECTION A — (5 x 5 = 25 marks)
Answer,any FIVE of the following.
1. How do you design questionnaire.

BTySEo do o080 D3BoT0E. - ‘
- Snehajobs.com

19

Explain the source of secondary data..
BeBab Eer G, rreredd J3Bosos.

3. Define:
(@) Central and Non-Central moments.

Zo|8aD, S0 BaHdn 57 SrdgeD.

(b) Skewness
S|ES5 AgIoI0s.

4. " Explain Quartile deviation.
g6 dIeTd) D3BoTos.

5.  Write the properties of probability.
:602,:*;556" écge:a) 3B,

6.  Define:
(a) Probability mass function.
Sogrsgee 535073 HoEP.
(b) Probability density function.
Bogrigt Ao HoEpd Dol
7.  State central limit theorem.

ZoBah ©58 drpodsnii Benyi,
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10.

11.

Define: Snehajobs.com

(a)

(b)

(a)

(b)

(a)

(b)

(a5

Joint distribution.

asind S0DER.

Marginal distribution.
&2-08 30D IDoSod.
SECTION B — (5 x 10 = 50 marks)
Answer ALL questions.

State the various methods of collecting primary data and discuss their relative merits.

DS PPN B5r0¥ HESE HPEeDH BI), T BOTHE DT $6)0530.

Or
What are various measures of central tendency? What are their merits and demerits?

Eellales L:);Z):@, Foden 2 ? T3 DEETOR, BHOYETORD @eg)oc'i.

Calculate standard deviation to the following data.
2 1208 D85S 25sddy DeTerds (530 290H0 ERTB0.

C.I: | 0-10 | 10-20]20-30]30-40[40-50[50-60 | snenajobs.com
;-1 2 | 3|5 | 6 | 41 '
Or

Derive Central moments interms of Non-central moments.

75 oS EereStor Doad EEreid &8yno Babod.

Define: .
(1) Axiomatic approach to probability
gy DEBE" Sogrisgd

(ii) Conditional probability
DBE8° E3aH Dogrdy

(iii) Independence of events

oo oo DgD0B0E.
Or
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13.

(b)

(a)

(b)

(@)

(b)

If two dice are thrown what is the probability that the sun is
(i) greater than 8 and

(1)) Neither 7 or 10. .

Both S=D5en DHBB Jwgo Jogrdgs IWeI?

@ 8 §a‘a QK3 SoBain

() 78= 105

State and prove Booles inequality. e i bs comt
ard) Ay, sRArIS% Brdoded. 4o

Or

In a bolt factory machines A, B and C manufactures 20%, 30% and 50% respectively of
the total of their total output 6%, 3% and 2% are defective. A bolt is drawn at random

and found to be defective. Find the probabilities that it is found to be manufactured by
machines A, B, and C. - -

5'S 3556 abo=ed® A, B Baio C 3o 20%, 30% HBakn 50% & Soi=d 3o, 8
3080 &83S° 6%, 3% HBa 2% SSarovgon eTyan. dlrdhsor 833 28 59
SBalrangom &3y SOFsadon. a8 A, B B8y C $alrtd 353 dbograrr >8o3S2d
SozrgEd BN H0E.

A random variable (x) has the following probability function.

x ol112|3|4|5[6]| 718
p(x)| a | 3a|5a|7al9all1al13al15a|17a

(i) Finda
(i) Find p(x < 3), p(x = 3) and p(0 < x < 5)

2% alrgyng Soo-3 (x) 5 & 1Bo8 Bogrgs (Hohiin Sodb.

x ol11l2[3]4[516|7]8
p(x)| a |3a|ba|7a|9allla 13a|15af17a

(i) ad@ng), Jendd SR DD

Gi)  plx < 3) plx = 3) B p(0 < x < 5) B, Devdi SHF DIV
) Or
The probability of a random variable ' as follows: f(x)= 3x°,0<xy<l.Findaand b:
G plx<a)=plx>a)
Giy plx>b)=0.05

28 aireydyE S00*3 'x' & G (808 Sogrigd (Habiw Sod. f(x) = 3x%,0< x <1, aoBatv
b > SRt B,

G plxsa)=plx>a)
Giy plx>b)=005
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